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#include <SoftwareSerial.h>
SoftwareSerial myRX(2, 3); // RX, TX
boolean lineBreak = 0;

String msg = "Root-01234";

byte pinSelect = 13;

inti=0;

void setup() {
Serial.begin(9600);

myRX.begin(9600);
pinMode(pinSelect, OUTPUT);
}

void loop() {
String DevicelD = "";
if(i < 8) {
digitalWrite (pinSelect, LOW);
Serial.print("Send to device #2: ");
DevicelD = "#2";




telse{
digitalWrite (pinSelect, HIGH);
Serial.print(“Send to device #1: ");
DevicelD = "#1";
if(i>=10) i=0;
}
i+=1;
myRX.print(msg);
Serial.println(msg)

myRX.listen();
String rcvmsg = "";

while (myRX.available() > 0) {
byte inByte = myRX.read();
Serial.print(char(inByte));
rcvimsg += char(inByte);
lineBreak = 1;
}
if(lineBreak==1) {
Serial.println();
lineBreak = 0;
Serial.println("Received from " + DevicelD + ": " + rcvmsg);

}
delay(1000);
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#include <SoftwareSerial.h>
SoftwareSerial myRX(2, 3); // RX, TX
boolean lineBreak = 0;

String msg = "abcdefghij";

void setup() {
Serial.begin(9600);
myRX.begin(9600);

void loop() {
myRX listen();
String rcvmsg = "";
Serial.print("Send to Root: ");
myRX.print(msqg);
Serial.println(msg);

while (myRX.available() > 0) {
byte inByte = myRX.read();

Serial.print(char(inByte));
rcvmsg += char(inByte);
lineBreak = 1;

if(lineBreak==1) {
Serial.println("Received from Root: " + rcvimsg);
Serial.println();
lineBreak = 0O;

delay(1000);




£ Raspberry Pi & RIEHEC {5 H

BATE R Y AL Es APE B 0 Ao T B & K & % MUARTO-P-1-2 ficke 2 %riz
FIME R RS > TF he@ SLen UART @ % 2 58— R4k 15> @ F :Bit 51 GPIO 17 k&

# & 7|78 B device - (GPIO14 2 GPIO15 ;i #f¥ /% hardware TX/RX ports » & ;2 :T %

7

GPIO17 % 2\ i* p {7 2 % for device :F# ¢ CTS %riz > ¥ri=¥ p {7 { #x) o

fEikiZ & fl

Root # : & [ = i #%- =x (GPIOIT i & mﬁi;fj 4 LOW 2 HIGH - 4 4:# 7] device #1
% device #2)

Made in PRC

4
e T TETTTTTTEY Y

MSPL"E T8 o ou Vi
(@) ot T et
208 oes

« #R83

GPI014 (TX)
GPl1O15 (RX)

=
—_—
~

2€1dY¥-£5602 J1
2€1d¥-828v2 QI 224

MERA
(EL LT

§102 14 K319qdsoy ()
2°1A 8 19PN € 14 K1a9qdsoy

R46«

S0 'C ........ o

1234 bi(Root 34) :

#!/usr/bin/env python

import time




import serial

import RPi.GPIO as GPIO
GPIO.setmode(GPIO.BCM)
pinDevice = 17

ser = serial.Serial(
port='/dev/ttyS0',
baudrate = 9600,
parity=serial. PARITY NONE,
stopbits=serial. STOPBITS_ONE,
bytesize=serial. EIGHTBITS,
timeout=1

)

GPIO.setup(pinDevice, GPIO.OUT)

counter=0

while 1:
if(counter % 2 == 0):

GPIO.output(pinDevice, 1)

else:

GPIO.output(pinDevice, 0)

time.sleep(0.5)

x=ser.readline()

print (x)

ser.write('Write counter: %d \n'% (counter))
time.sleep(2)
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#!/usr/bin/env python
import time

import serial

import RPi.GPIO as GPIO
GPIO.setmode(GPIO.BCM)

ser = serial.Serial(

port='/dev/ttyS0',

baudrate = 9600,
parity=serial. PARITY NONE,
stopbits=serial. STOPBITS_ONE,
bytesize=serial. EIGHTBITS,

timeout=1
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GPIO.setup(pinDevice, GPIO.OUT)

counter=0

while 1:

x=ser.readline()

print (x)

ser.write('Write counter: %d \n'% (counter))
time.sleep(2)




